4D Hy,---,H,000000000n00000000H,,---,H, 0000000
T(H,,---,H,) 0000000000000 0O0OO0O0OO0O0O0O0O0O0O0OO0 (z,y,2)00

gooo

. 00 2z=00 HO00OO y=00 H,00O =00 H;000O0O
T(H;, Hy, H3) = 80

. 00 z=00 HiO0OO y=00 H,0OO z+y=10 H;0000O
T(Hy, Hy, Hs) =70

. 00 z=00 HiO0OO z=10 H,O0OO y=00 H;0OOO
T(H,, Hy, H3) = 60

. 00z=00 HOOO y=00 H,000 2=00 Hs0OO s +y+2=10

H, 0000 T(H,, Hy, Hs, Hy) = 150

gooo
(1) 0OnOO0DOT(Hy,---,H,)00DO0ODOO0ODOOD0ODODOODOODOOOOO
(2 UOnOO0OO0OO0OT(Hy,---,H,) 000000000 20000000000000

O00n=220000
(3 UOnOODOOT(Hy,--+-,H,) 000000000 30000000000000

O00n=230000



